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Qs A

SECTION A

Attempt any fourteen questions. Each question carries one mark. Select the

correct answer.
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forsrelt = wom 4 ‘1ol i fom, qell fuai <6t g |

(1)
(2)
(3)
(4)

In an electrical plug, the ‘earth’ pin in comparison to other pins, is

(1)
(2)
3)
(4)

Teh UedIHIeT S TN &1 Site o fofe fopam Sirar 2 2

(1)
(2)
(3)
(4)

T B B
B Bl B
LSRG
qaelt 2t 3

equal
smaller
larger

thinner

qlees
e

redd
I At

A multimeter is used to check

(D
(2)
(3)
(4)

Voltage
Current
Resistance

All of the above
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(1)
(2)
(3)
4)

=1 3 ==
I3 IR =

S{Ts{

3 3 I

The resistance of a p-n junction diode in forward and reverse bias is

respectively

(1)
(2)
(3)
(4)

low and high

high and low

equal

infinite and zero

form eafmmdl (ATSshIe) | VreleRR Hies Jfie & & o7 (faee-s) gt @ 2

(1)
(2)
3)
(4)

Which microphone has a built-in amplifier ?

(1)
(2)
(3)
(4)

Hafade
qfem it
strctfer
I

Capacitance
Moving coil
Piezoelectric

Carbon
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5.  ohIeH EaUTEl (HTSShIBH) H, eaf foheeh Sigem o gl Hehal | Sgardl @ ?
(1) eda

(2) Hufydm
(3) 3SFHH
(4)  HEIA 6 fa

In a carbon microphone, sound is converted into electrical signals by a

change in

(1)  Resistance
(2)  Capacitance
(3)  Inductance

(4) Coil movement

6. ‘gfon we o forane (Ake-wdeR) T # @ forment aftafaa sear g 2
(1)  greehia Sl ol faegq Tehal §
(2) Torgq dordi =t oTaTe (gafd) B
(3) 9 T Wi foggq dohai §
4) 39 H W S A
A moving coil loudspeaker converts
(1)  Magnetic energy into electrical signals
(2)  Electrical signals to sound

(3)  Air pressure to electrical signals

4) None of the above
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1 IR

(2) X
(3) TR
(4) &M e

Which loudspeaker is used for low frequencies ?
(1)  Woofer

(2) Tweeter

(3)  Squawker

(4)  Horn type

e fepifen # Fple 38’ o ford wepr <t forgga amar werfea <t w2 2
(1) SrEn.

(2) IIR.TH.
(3)  3TifeaA Heha
(4) 1kHzUT.Hl.

What type of current is passed through the ‘Record Head’ in magnetic
recording ?

(1) D.C.
(2) R.F.
(3)  Audio signals

(4) 1kHzA.C.
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9. 29 fpiet & faftm @€’ o vered & o9 Bid 2 3Uehl UieTar (Permeability)
ferat B =R 2

(1 3=d
2 =
(3) Hew
(4) 3

What should be the ‘Permeability’ of the material of various ‘Heads’ of a
Tape Recorder ?

(1) High
(2) Low
(3) Medium

(4) Infinite

10. .. ¥ Feha (Y1) FoREeh g 9¢ S & 2
(1)  37a%h foton gro

(2) oK &9 g’
(3)  HW%e TehTSI <hl ToRtom grr
(4)  USshidd | g

Information on a ‘CD’ is read by
(1) Infrared Rays

(2)  Laser Beam

(3)  White Light Rays

4) Microwave Beam
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11. i’ frmaadfigd g ?

(1)  difcEine
2) fommsa

(3)  dfen

(4)  wTeH

A ‘CD’ is made of

(1)  Polycarbonate

(2)  Vinyl
(3)  Copper
(4)  Carbon

12. .. =R § AfMgEdn AU (Aspect Ratio) TR SehTeal < Wed w1 STUT@
21 & 2

(1) = =S
(2)  IgRE : S
(3) fowul (smme) @ S8
4)  fachol (errer) : <iere

In TV transmission, ‘Aspect Ratio’ is the ratio between
(1) Height : Width

(2)  Width : Height

(3)  Diagonal : Height

(4)  Diagonal : Width
314 7 P.T.O.



13. .. Tefior d@ forg w0 & =g arifean it difean Teha 31 fopu IId 8 2

(1)  3Afea Jads
(2) difean feewe
(3) At yadd=s

(4) ST, S

In a TV Receiver, the audio and video signals are separated after which

stage ?

(1)  Audio Amplifier
(2)  Video Detector
(3)  Video Amplifier

(4) RF Tuner

14. A, gafier § ifean ik difea Toha form vt w oy fope 9ma € 2
(1) A3 HHR H ARG T
(2)  grafufén v % e wwd

(3) HIGTAYH & UBd
(4) ife yauds & =g

In a TV Transmitter, at what stage are audio and video signals mixed ?
(1)  Output of TV camera

(2)  Just before transmitting antenna

(3)  Before modulation

(4)  After video amplifier
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16.
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qTgshiad 3ifaq fohe TTgfed o H-aTE il d 8 2
(1) 100 MHz

(2) 2500 MHz

(3) 2500 kHz

(4) 100 kHz

The Microwave Ovens work near which frequency ?
(1) 100 MHz

(2) 2500 MHz

(3) 2500 kHz

(4) 100 kHz

Ao T’ 1 fufen eman (vfa) =t form gp1E o =<k a8 2
(1)  SFYARTS

(2)  THA/ERTE
(3) uUS/fime
(4)  ee/fiFe

The printing speed of ‘Laser Printer’ is expressed in
(1)  Characters/second

(2) Lines/second

(3)  Pages/minute

4) Words/minute
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SECTION B

5T B: J971 & T T | Ied% J97 & 7@ @ 37F & |

Attempt any six questions. Each question carries two marks. 2x6=12

17. @5 W q "Egrar fafae, s g fRet soragiteh o <l Zaasien (T
framon) &= 4 s |
Write any two precautions that you will observe while troubleshooting an

electronic equipment.

18.  Soiagii-eh qiwl <l AT i <l ST B 2

Why is earthing provided to electronic circuits ?

19. T[T A HIShHIBH 1 SRS Rigia Tmemy |

Explain the working principle of ‘Moving Coil’ microphone.

20. @fq amE S g i (IREr) TwesT |

Explain the frequency range of musical instruments.

21. U JUfiehie # Tyt forg aig fiern Sirar 2, 989 # Ewesy |

Explain in brief, how the signal in a Tape Recorder can be erased.

22. .. & el § ‘T ufshan < G899 °§ "HEsT |

With reference to TV, explain in brief the ‘Scanning’ process.

23. AN § H=pATER uew S stavEear F= gt 8 ?
Why do we need synchronising pulse in TV ?

24, THISshIAd 39 | HAIZhidd @M hl H8 TH Hidl & ?

How do microwaves heat food in a Microwave Oven ?
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SECTION C

fabgT @i 3971 & I T | Fedh J97 & [o7@ diT 37 & /

Attempt any three questions. Each question carries three marks. 3x3=9

25. SIS A hl g (wuen fanr) s # freafafed 9 @ fret v
AT ST AT IHHT TN HA BT 7, e
(a) Hi.3m.am.

(b)  HICSNT &M

In troubleshooting of electronic equipment, write the application and

method of usage of any one of the following :
(a) CRO
(b)  Soldering Station

26. Th @ foedieh (ARee-TfiRl) 1 g tfvarees (e higeiiees)
HHLATRT |

Explain the frequency characteristic of a loudspeaker.

27. ‘srifesma feifén =1 fagia 9&w § gHemsy |
Explain in brief the principle of ‘Optical Recording’.

28. ‘LCD’ s7ga7 ‘LED’ &1 9% U1 99gsy, o8 o & 6 wRwvme amia
g

Explain that property of ‘LCD’ or ‘LED’ on which the working of a TV is
based.

29. T IR TR H IR FHIAST |
Explain the difference between ‘Fax’ and ‘Scanner’.
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SECTION D

fabgT @i 991 & I 9T | Jedh 97 & 070 Giar 37 & |

Attempt any three questions. Each question carries five marks. 5x3=15

30. TUeh soich UUS ogrge Aol H “faer 98 @ W T 981 2 | 374 HhiH-H-El
TS = AT X KA ?

A Black & White TV is ‘showing normal picture but there is no sound’.
Which stages will you check and how ?

31. A FYET NS HAISHIPHH hl GT=AT 9 HRIYUTE GHET |

Explain the construction and working of Carbon or Piezoelectric

microphone.

32. Hi.€. yar A€ R I afska w1 o S gEEar ¥ g9y |
Explain the process of manufacturing a CD or a DVD, with the help of

diagrams.

33. hfsw .. qgfi o Ya-awal i THSART |
Explain the elements of Cable TV system.

34, HISHIad AT Foar TRt off h yeR & fier it wrivone #r wag |
HHART |
Explain in brief, the working of a Microwave Oven or any one type of

Printer.
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